ﬁ , ‘ ‘ Multiplier les nombres décimaux par des puissances
de dix

Nom: Date: Note:
4,713 x 100 = 5,741 x 1000 =
9,04 x 10 = 8,716 x 100000 =
2,185 x 1000 = 10,9 x 10000 =
4,509 x 100000 = 2,361 x 10 =
8, 113 x 10000 = 5,67 x 10000 =
3,954 x 1000 = 1,34 x 10 =
8,956 x 1000 = 4,041 x 1000 =
3,465 x 10000 = 9,818 x 1000 =
2,684 x 100 = 1,711 x 1000 =
9,036 x 100 = 5,905 x 1000 =
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Multiplier les nombres décimaux par des puissances
de dix

Nom:

4,713 x 100 =471.3

9,04 x10=90.4

2,185 x 1000 = 2185

4,509 x 100000 = 450900

8, 113 x 10000 = 81130

3,954 x 1000 = 3954

8,956 x 1000 = 8956

3,465 x 10000 = 34650

2,684 x 100 = 268.4

9,036 x 100 =903.6

Date: Note:

5,741 x 1000 = 5741

8,716 x 100000 = 871600

10, 9 x 10000 = 109000

2,361 x 10 =23.61

5,67 x 10000 = 56700

1,34x10=13.4

4,041 x 1000 = 4041

9,818 x 1000 = 9818

1,711 x 1000 = 1711

5,905 x 1000 = 5905
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